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1 |deiEE 3.5E+4 35,009.4
2 |FEHR 1.0E+4 10,404.9
3 _|EFR 8.3E+3 8,256.2
4 |EHE 1.4E+4 13,553.6
5 |MHEE 7.9E+3 7,865.5
6 |[ILFER 8.9E+3 8,856.9
7 |BER 1.3E+4 13,286.4
8 | &R 1.8E+4 18,276.1
9 |HARR 1.3E+4 12,729.6
10 |HER 1.3E+4 13,0452
11 |BER 3.5E+4 35,000.7
12 [FER 3.1E+4 30,858.4
13 | ER 8.5E+4 84,750.3
14 [#E)IE 4.3E+4 43,080.1
15 [FiRg 1.7E+4 16,919.3
16 [EWLE 7.5E+3 7,537.9
17 (AR 8.5E+3 8,537.6
18 [EHE 6.1E+3 6,052.2
19 |ILBLE 6.4E+3 6,385.6
20 |REHFR 1.5E+4 14,9119
21 |IRBR 1.3E+4 12,610.2
22 |F5ER 2.6E+4 26,1226
23 |BHE 4.0E+4 40,4498
24 |=ZER 1.2E+4 11,785.4
25 [HEER 7.9E+3 7,934.1
26 |FRERAT 1.7E+4 17,030.3
27 | KBRFF 5.0E+4 50,388.0
28 |EER 3.1E+4 31,180.2
29 |RRER 7.8E+3 7.813.2
30 |FnERILE 8.3E+3 8,292.4
31 |BWE 3.9E+3 3,914.6
32 |GRE 5.6E+3 5568.7
33 |EIWE 1.2E+4 12,221.6
34 |[LEBR 1.8E+4 18,171.1
35 |luOg 1.0E+4 10,298.4
36 |EER 5.8E+3 5818.0
37 |BNR 6.9E+3 6,909.9
38 |EBRER 1.1E+4 10,975.2
39 |=HE 6.5E+3 6,481.6
40 |$ERE 3.5E+4 35,396.3
41 [EER 6.4E+3 6,388.0
42 |RIGE 1.2E+4 11,854.8
43 |REXR 1.3E+4 13,477.9
44 | K7 R 9.5E+3 9,533.1
45 |EIGE 8.4E+3 8,425.7
46 |BRRBE 1.4E+4 13,791.1
47 |[HigR 1.1E+4 10,598.0

EE 8.0E+5 798,748.1
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